

PENGURANGAN PECAHAN CAMPURAN

Nama :

Kelas :

KERJAKAN SESUAI CONTOH!

Contoh:

$$6\frac{5}{6} - 3\frac{4}{6} = \frac{41}{6} - \frac{22}{6} = \frac{19}{6} = 3\frac{1}{6}$$

$$1) \quad 5\frac{6}{7} - 3\frac{4}{7} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{}\frac{\boxed{}}{\boxed{}}$$

$$2) \quad 4\frac{5}{9} - 2\frac{1}{9} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{}\frac{\boxed{}}{\boxed{}}$$

$$3) \quad 11\frac{7}{3} - 6\frac{5}{3} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{}\frac{\boxed{}}{\boxed{}}$$

$$4) \quad 7\frac{8}{5} - 4\frac{2}{5} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{}\frac{\boxed{}}{\boxed{}}$$

$$5) \quad 5\frac{7}{11} - 2\frac{2}{11} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{}\frac{\boxed{}}{\boxed{}}$$

Contoh:

$$6\frac{5}{6} - 3\frac{4}{2} = \frac{41}{6} - \frac{10}{2} = \frac{41}{6} - \frac{30}{6} = \frac{11}{6} = 1\frac{5}{6}$$

$$6) \quad 2\frac{4}{5} - 1\frac{1}{2} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$7) \quad 5\frac{1}{14} - 1\frac{3}{7} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$8) \quad 6\frac{1}{2} - 2\frac{3}{4} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$9) \quad 2\frac{2}{7} - 1\frac{1}{3} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$10) \quad 4\frac{3}{8} - 2\frac{1}{4} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$